(100%)
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'/ 1 kmx 7.5 km

11 24 12 8147
2-11-5
100km®
500ha 750ha
20 km’
100 km®
50% 3.0 /s 75% 19 /s
50 /s
3 /s
50 km 16 m

1 kmx 5.0 km
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10%

5%

50ha 37.5ha
(ha) (%) (ha)
(km)
500 5.0 10 50 5.0km x 0.1=500m
750 7.5 5 375 7.5km x 0.05=375m
10%
10%
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5cm

10
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150
10%
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120 m

10 km

16 m

50 km

1km x 5.0km
1 kmx 75 ka

[

10 km
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50ha 37.5ha
10
50 /ha/ x 50hax 150
1.5L/ x 37.5ha/ x 10%( )x 11
x 10
3,756,000
012 /s
16m
3 m
5m 3m 2 65m
I0m 3m 2 115m
5m
10m
0.5% 6.5 m
0.2% 115 m
5.8% 11.5m

0%
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%

(m) /

1 4

2 1.6

3 1.0 49 7.5 29.6 19.6

4 0.9

5 0.6 1.6 5.2 195 10.1 18 12.7
7.5 0.4 1 2.6 14.1 6.4 8.5 10.8
10 0.4 0.4 1.7 10.6 4.4 4.8 8.9
15 0.2 0.2 0.8 6.2 25 1.7 4.7
20 0.1 0.1 0.4 4.2 14 0.8 3.8
30 0.1 0.1 0.2 2.0 0.6 0.3 2.1
40 0.1 0.4
50 0.1 0.2 0.1 0.3

Ganzelmeier et. al., 1995
%
0 10 25 50
23.2 2.1 1.3 1.3
y 46597 x* R* 0.9926
6.5 m 2.4% 115 m 2.0%
1/150 1m
1 m 4%
100
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